


S p e c i f i c a t i o n

Portable TV Stand

Unit:mm

QTY

P a r t s  L i s t

ITEM

PARTS

MAIN PARTS

PARTS

5 12 136 7 9 10 111 2 3 4 8

MAIN PARTS

15

14

30
19

10

30~1040

50
~9

00

Left base Right base

20

M6X10

4

21 1 4

2

11 1 1 2

4

M6X10

1

1080

75
0

50
0

14
91

M6

Top bar Bottom bar

MM-0011/A340-NB Page 1

17ITEM

PARTS

QTY 2

2

2

1

19 2018

M8

1

23

PARTS FOR TV BRACKETS

ITEM

PARTS

QTY
M6X10 M6X15 M8X10 M8X15

4444 2
M6X25

24 26 272516

2

22

4
M4X4 M4X15

M4

21

M5X5

8

*Loading Capacity:60~90kgs LCD TV
*TV Height adjustment (up-down movement) range:500mm
*Meet VESA: X:30~1040; Y:50~900



I n s t a l l a t i o n

Portable TV Stand

I.

3

1 2

15

19

II.

5

6

4

7

20

Top bar

15

18

MM-0011/A340-NB Page 2



I n s t a l l a t i o n

Portable TV Stand

V.

III. IV.

59
3

Height Adjustment

21

Install the wall mount in the mobile stand

8

16

10

14

MM-0011/A340-NB Page 3



I n s t a l l a t i o n

Portable TV Stand

VIII.

M6X10

M6X15

M8X10

M8X15

Screw selected

24

25

26

Lock the screw after you hang the TV on.

9 23

27

11

11

13
17

12

VII.VI.

MM-0011/A340-NB Page 4



Portable TV Stand

IX.

I n s t a l l a t i o n

W a r n i n g

Weight Loading +

Weight Loading -

For safety reasons a minimum of 2 people are required to install. 

Be aware of the specifications and steps indicated on this manual.

Do not remove the screw 
covers or adjust the screws

Make sure the TV is balanced.
Set the balance, adjust the two springs equally until balanced.

22

22

22

22

MM-0011/A340-NB Page 5


	frontpage
	A340-NB
	頁面 1
	頁面 2
	頁面 3
	頁面 4
	頁面 5


